
1) 8th term is 4; 18th term is ­96. Find the sum of the first 30 terms. 
− 0(18−8)

(−96−4) = 1 = d  

0 4an = a + d (n )− 1 ,a8 = a + d (8 )− 1 , 4 = a − 1 * (8 )− 1 , 7 = a  
4 − 0 − 16a30 = 7 + 1 (30 )− 1 = 2  

− 130Sn = 2
n (a )+ an = S30 = 2

30 (74 16)− 2 = 2  
 
 
 
 
Find the sum of the following series: 
2) 1+3+5+ … +59 
a=1,d=2 

,an = a + d (n )− 1 9 05 = 1 + 2 (n )− 1 ,n = 3  
00Sn = 2

n (a )+ an ,S30 = 2
30 (1 9)+ 5 = 9  

 
 
 
 
3) ..1

16 +
3
64 +

9
256 + . + 6561

1048576  
,a = 1

16 d = ( )116

( )364 = 4
3  

,an = a * r(n−1) 6561
1048576 =

1
16 * , , ,(43)

(n−1)
( )116

( )6561
1048576 = (43)

(n−1)
ln( )4

3
ln( )6561

65536 = n − 1 n = 9
 
 

23123  Sn = a ( 1−r1−rn) ,S59 = 1
16 *( 1−4

3
1−( )4

3 9) = .  

 
 
 

4)  ∑
ω

k=1
8(32)

k−1   

 
S 4= a

1−r =
8

1−3
2 = 2

 
 


